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APPED L0

ST UDY LCENTRE

TNPSC GROUP 1/ Il PRELIMINARY
SOCRATES BATCH - WEEKLY TEST 2 OF FEBRUARY, 24

Match List I and List II
List I

Motion

A. Linear

B. Curvilinear

C. Circular
D. Rotatory
E. Oscillatory
B

1

1

1

g

e. Answer not known
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List II

Example

1. Throwing ball

2. Person walking on straight path
3. Pendulum

4. Swirling stone tied to the rope
5. Rotating top

uCiguied I &g uligued I o a1 QUIHEHSHIS.

U iguied I

@UuIH&HID

A. GpTaCaT (H Buidbasd
B. auewenmaiuneng Suisbsid

C. aulLiumens Buisbsld
D. spswBd Suissd

E. omeve] Buisbsid

A B C D E
a. 2 1 4 5 3
b. 2 1 4 3 5
c. 2 1 5 3 4
d. 1 2 3 4 5
e. allemL  OFflwalsvensv

U iguied 11

I(bHHIHHML (b

1. uBHeneT 6igFHe0

2. CrTaBam (B utengduled BLHEH OlFe0s)ID
LD6DT 60T

3. SHeNEF6D

4. sWIBBIET @ (PeneTUled &H6060eM6TH
SLIQF SHBBIGH6V.

5. UDUTHSH T BuidhaLd

PH: 044 - 24339436, 42867555, 9840226187




2 | Page

Example for multiple motion.

1. Motion of Bicycle

2. Motion of Sewing Machine

3. Motion of Earth

a.1, 2 are correct b.1, 2, 3 are correct c.1, 2, 3 are incorrect

d. only 2 is correct e. Answer not known

Gl B BUSBEHHBHTERN 1HHBHISBTL (HH6IT 6Ten6u?

1. geuemnguiet Suisbsald 2. OFHUWEL BUWHATHH 6 BuidhsLd

3. ylulest @uisasld

a. 1, 2 o b.1,2,3 & c.1,2,3 sy

d.2 wi @G & e. alewL Ospfuwaledemev

Motions are termed as natural motion (force independent) and violent
motion (force dependent) was proposed by
a. Sir Isaac Newton b. Aristotle c. Galileo

d. Albert Einstein e. Answer not known

BUSHHMS BUBMSWLTET Quisbsld (aleng gFTTUBB Suissld)  LoBEBID
BuUIBHHG, LDIT(BIT 60T [OVE:T Q0k; GMTL|6mL_UI @UIH&HID) 61601
QUM WIMISHSHEUT

a. g1 MmgFsH Byl L e b. @flerdLm 1960 C. &6Ve0GwWIT

d. eyeouim’ meiteiesst €. alewl GHflulaisveney

Which of the following statements is/are correct about Inertia?

1. An athlete runs some distance before jumping

2. When making a sharp turn while driving a car, you tend to lean
sideways

3. When vigorously shaking branches of tree some fruits and leaves fall
down

a.1,2,3 areincorrect b.only 1, 2, are correct c. Only 3 is correct

d. 1, 2, 3 are correct e. Answer not known

LedT6u(HeUeTOUBMIGT 6T6N6)  [HlemEVLDSHH MBI  61(H&HHIHBTL (HBH6IT

1. memb SHmewiBd GumliguimenT HTewi(BHLO(PeT FMWHISMTD @Houd

2. @b WLWHHS UMETUTMSHUIED 6lFeLIDGUTSHI LIWeDIWT (h LSHLOTS
FTUI6US

3. dHlemendemen 2 ebSWLler FHHHHH HCW al1pbd Eenevdei

a. 1, 2, 3 9wl pSIBID Heuml b.1, 2 w @G &M

c.3 B g d.1, 2, 3 gdw e &

e. alewL GFHflwealedenso
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Consider the following

Assertion (A): Impact of a force is more when the velocity and the
mass of the body is more

Reason (R): Impact of force depends on the mass and velocity

a. Ais true R is false

b. Both A and R are true and R is the correct explanation of A

c. Both A and R are true and R is not the correct explanation of A

d. Both A and R are false

e. Answer not known

LedTeu(hHeueTeuBenm LIS

aBoI(A):  HwsBausCor  HeopBur  oiFHswreamed  allewauler  HToHsD
DIH BTG LD.

snyenid (R): elenguienr srosd SHosGasshmBuib BHenpepulwd SFTibSH.
By Ff 1BLID STFewID Heum)

gMBml BupIb Sryewid il Ged Smyewrd Fhwmer allemdbaLom@Lb.

Fgmml BuIb &myewid gl Geuid Smyewid Filwimer allenédaLoe060

. GaBW LOBBID SHMJewnid @Jewi(hD Heum

alewL O fluaiedensv

a0 TP

When parallel unequal forces are acting in opposite direction, the
resultant force

a. F1-F» b. F1+F; c.0

d.>1 e. Answer not known

FOWMB  WHUYHeT  OBTewi. Bevewt  alengdHel  qHOTHT  FHewFulev
Gawedul Lmed Oam@uwet alend (F 0amg) waHii

a. F1-F» b. F1+F, c.0

d.>1 e. alewL O fualedemnsv

World’s first Malaria Vaccine approved by WHO in African countries is

a. RTS, S / ASO1 b. CERVAVAC c. Matrix-M
d. Botha & ¢ e. Answer not known
olflas  BrBsefles WHO g0 omssfldsinn L wGsoflum  siprigd

a. RTS,S / ASO1 b. CERVAVAC c. Matrix-M
d. a & c §yewipo e. alenL Gz fuwealsvensv

Two equal and unlike parallel forces applied simultaneously at two
distinct point of an object constitute
a. Couple b. Torque c. Fore at equilibrium
d. None of these e. Answer not known
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& gwwiar Semeaualmgsel @6 CrysdHed e OCummeisar  EmGeum)
Yoo sefenr g eIHT a1HT FHewauled GFweLLIL L T6D
a. @y edL (couple) b. SmriyshHmeit C. FHMmeL aleng
d. GuBanpiuwl eside0em6v e. alewL Ospfuwaledamev

Unit of Impulsive force

a. Kg ms-! b. Kg ms2 c. Ns

d. A&C e. Answer not known

S SHHTHG alenFullar DievG

a. & el b. && 18al? C. Bl L& albmg
d. A&C e. alowL Gxfuialsdensv

Which of the following statements is/are correct?

1. Geometric radius of earth is maximum at equators and acceleration|
due to gravity is minimum.

2. Acceleration due to gravity (g) is maximum at polar region due to
minimum radius of Earth

a. Both 1, 2 are correct b. Only 1 is correct c. only 2 is correct

d. Both 1, 2 are incorrect e. Answer not known

LNeiTou(Hd FnMBmIH6Ned elemer Fifluimergl?

1. yalullesr supb HleopBHHCHTLBLILGSH U DIHBID ALY (PHSHBD (GHHB6
2. yaluflesr s SIHAULIUGHUND Gdme| FLL (PHEHBD DIFHSLID.

a. 1,2 s b.1 w @G & c. 2wl B &

d. 1, 2 seum e. alewL O fuwaledemnsv

Which of the following statements is / are correct

1. The element whose atomic number is more than 83 undergo
spontaneous radioactivity

2. Technetium and Promethium are the only two radioactive elements
with atomic number less than 83.

a. Both 1, 2 are correct b. Only 1 is correct

c. Only 2 is correct d. Both 1, 2 are incorrect

e. Answer not known

LNeiTou(HLD FnBmIH6M60 eTeweu FiuITerg)?

1. oleietent 83 el FHHD OCEHTHMIL  HONDBRIS6T  SHEIONFMFUITS
sHNwsasHmeb GeualulBogmer CLBBM6.

2. OLseliguid wmmid  yCrmilsHHuwid Blul @gewih  HevliomidbeT oL (HGLD
83 el GHomHPH et OFHTewI HHMWHD Heolllomisei

a.1,2 sy QyewiGw & b.1 w' @b &M

Cc. 2 (b & d. 1,2 s ByewiGBL Heum)

e. alewL GFflwealevenso
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Match list I with list 11

List I List II
A. One Curie 1. 10¢ disintegrations per second
B. One Rutherford 2. 3.7 x 1010 disintegrations per second
C. One Becquerel 3. Radioactive unit of gamma () and x- rays
D. One Roentgen 4. S.I unit of Radio activity.
A B C D
al 2 3 4
b2 1 3 4
c2 1 4 3
d4 3 2 1

e. Answer not known
uliguied I II o L& QUIHGHSHIS.

U iguieo | U iguie 1
A.@m Suf 1. 10° sHflwss SHosamer / aleariy
B. @ epait. .Cunitlh 2. 3.7 x 1010 Aewzaimeit / alerig
C. QuaO®Tyed 3. amom (y) BpID X sHTeeiar sHflwbasds e
D|6VS
D. gmewr gesr 4. aFilwusssHear S.I 960G
A B C D
a 1 2 3 4
b 2 1 3 4
c 2 1 4 3
d 4 3 2 1

e. alewL G fwalevensv

Choose incorrect pair
a. FAO - 1945 - Rome b. IFAD - 1975 - Rome
c. WFP - 1961 - Rome d. None of these

e. Answer not known

SHAUBTET Een6mTenlld HITemdH

a. FAO - 1945 - Gymib b. IFAD - 1975 - Gymib
c. WFP - 1961 - Gymb d. @men gsIdle0m6D
e. allemL  OFflwalsvensv

Ionizing power

a. o - rays > 3 - rays > p - rays b. a - rays <3 - rays < p - rays
c. o —rays > P -rays < p - rays d. a - rays < p - rays > p -rays
e. Answer not known

SIWEIWTEGLD SHmest
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a. o - s> P - aHT> o - sH b. o - a8t <P - 8T < p - BHT
C. 0 - &HT> P - s < o - sA d. o -sgf <P -adT> p - sH
e. alemL OFflwaledensv

1100 boys and 700 girls are examined in a test. 42% of the boys and 30%
of the girls pass find the % of the fail.

am GxTemeu 1100 wreweutsemnnd, 700  wrewielsEmd  61(LDSHIS GTBEITT.
aTsemed 42% rewiauTseEnd 30% wrevelsepd CHTFS GLBIH ETEEIT.
aenev, BGapmeval ML HEHTTET FHAIHD HT6wIH.

a. 58% b. 62 24 % c. 64%
d. 78% e. alewL OHfualedenso

Assertion (A): Though able to win, let not one desire gambling

Reason (R): Gamblers gain one item in the gamble and lose a hundred
times as much

a. A and R are true R is the correct explanation of A

b. A and R are true R is not the correct explanation of A

c. A true but R false

d. A false but R true

e. Answer not known

gaBm (A): CeupBlCw CUBIUSTEMID GSTLLSHmSH al(BUS FnlTH
smyend (R): @smesel @GHeo @b QUT@mHeT QUBEI BHIBIOLFEG CUTHemeT
Bopb 3161 Beul

a. (A) wspd (R) sfl Gweud (R) eeiug (A) &@ gflwmer alenssomgLb.
b. (A) wsBp (R) &fl suemed (R) eteimug (A) &@ sflwner alendsoeen
c. (A) sfl sopemed R Houm

d. (A) seum spemed R &

e. alewL GFTwealedenso

Radioactive displacement law was framed by

a. Marie curie b. Henry Becquerel c. Soddy and Fajan
d. Rutherford e. Answer not known

sFHfwss AL bCUWTe) algemw allendawleau

a. GuoMasluyM b. Gameny OLSOBMT6ED C. &My LOBMID .".LIggesr
d. epair..Guni(h e. alewL O fwaledenso

Which of the following statements is / are correct
1. Nuclear fusion is possible only at an extremely high temperature 107
to 10°K
2. Alpha rays, positrons and neutrinos are emitted
3. This principle used in atom bomb
PH: 044 - 24339436, 42867555, 9840226187
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a. 1, 2, are correct b. 1, 3 are correct c. 2, 3 are correct

d. 1, 2, 3 are correct e. Answer not known

LesTeu(hld SnmmIberien elemeu Filuimesrg?

1. oemibam Bmenia] 107 (pxHev 107 e 10 o wibhs GeuliLmpbensouiey
L BHOWw BHlapLd.

2. @bBHsbaled SeouT  SSHTHeT, UTFLJTeiseT wBmpid  Hluyl NGemesern
GleueMuimal 63 eor.

3. 863D SlEMIGNged GClFuILIBGESBE.

a. 1,2, s b.1, 3 & c. 2,3 g
d. 1,2, 3af e. alewL Ospfuwaledemev
Match List I with List II
List I List I
Radio active isotopes Application
A.Na-24 1. Treatment of skin cancer
B.1-131 2. Thyroid treatment
C.P-32 3. Effective functioning of heart
D. Co - 60 and Au - 198 4. Treatment of skin diseases and crop
production
E. Fe - 59 5. Anaemia treatment
A B C D E
a.2 4 1 5 3
b.4 2 3 1 5
c3 2 4 1 5
d1 2 3 4 5

e. Answer not known
uliguied Iy Il o Lear QuUTHSHSHIs.

U iguiev | U guiev 11

sHMWHS 2CaFmGL T ILSH6IT LISt (B

A.Na-24 1. Camed yUBBIGHTUI HFFens

B.1-131 2. oFITUIH FFFemg

C.P-32 3. @sWib FJTe QFwedLL,

D. Co - 60 and AU - 198 4. Bxpmev Gpmul HAFmF, LUIT 2 BuUSHH

E. Fe - 59 5. 155 Bamens FdFama
A B C D E

a. 2 4 1 5 3

b. 4 2 3 1 5

c. 3 2 4 1 5

d. 1 2 3 4 5

e. alewL GHfwealevensv
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Which of the following statements is / are correct

1. Dosimeter the device used to detect the levels of exposure to an
ionizing radiation

2. First nuclear reactor was built in 1942 at Chicago, USA

3. Radioactive materials should be keep in a thick walled lead
containers

a.1, 2 are correct b. 2, 3 are correct

d. 1, 3 are correct e. Answer not known
LesTeu(hld FnmmIberiien elemeu Filuimesig?
. CLrABLT elaiug SUWSIWUTHGD SHTaIFF G Dlealenerd HewILplub

c.1, 2, 3 are correct

T HE0ILD

2. (IpFHL DEMISHH 2 _mev 1942-60 olGwfdsTaleveTen HHTGsT HHSM6D
S LU L G).

3. Bwermer  HTTWF  SGeuTHenTed el CdTeTsevened  SHMWSHSL
QUIT(HeTHMET emaldhd Gauemi(BLD.

a. 1,2 s b. 2,3 & c. 1,2, 3 &

d. 1,3 s e. alewL OFpfuialedensv

Match the following

Components Uses

A. Fuel 1. Water, air and Helium

2. Boron and cadmium
3. Graphite and Heavy water

B. Moderator
C. Control rod

D. Coolant 4. Uranium
A B C D
a. 4 2 3 1
b. 4 3 2 1
c. 4 1 2 3
d. 4 3 1 2
e. Answer not known
CQUT(HSHHIS.
DIMISHH(H 2 606VLITHMISH6IT UweTUIBD  GUIT(hHeiT
A. efl@Qum(mert 1. BT,&MBH WBBID enfedluib
B. semilliLimes 2. Gumgmedt OB®ID ST LOWID
C. s pUUBSHSHID S 3. ST .Ul OBMID HEIHIT
D. gefirailliumes 4. wByeollwib
A B C D
a. 4 2 3 1
b. 4 3 2 1
c. 4 1 2 3
d. 4 3 1 2
e. alewL GFfwealevensv

8 | Page
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Which of the following statements is / are correct

1. Nuclear power is the fourth largest source of power in India

2. Tarapur Atomic power station is India’s first nuclear power station
3. In India 7 atomic power stations and 22 nuclear reactors in operation
4. Apsara was the first nuclear reactor built in India and Asia

a.1, 2,3, 4 are correct b.1, 3, 4 are correct

c. 2,3, 4 are correct d. 3, 4 are correct

e. Answer not known

LesTeu(hld FnmmIberiien elemeu Filuimesig?

1. @baHw Were_BusHHulled SIEIFSIHUITEIH HTEIHTOISH 6UGNIOTS O 616Nl

2. @hHUTAIST (PH6L DGO HleNeLWID HITFTLILLT

3. @bHwmaled 7 @O  [HleMELWIRISET O _GiT6TeT. 22 o|amIsha(H
9 M6VHGT OFWIGOLITLIQED 2 6IT6IT60I.

4. 9IIsIT  Slgme mev  FWT  oBpId  @bHwmelled  SULLLULL  (PSHED
S| 66V.

a.1,2, 3,4 s b.1, 3, 4 & c.2,3,4 g

d. 3, 4 s e. alewL OFpfuialedensv

Consider the following statement
1. 23rd SCO Summit held virtually in 2023
2. India - head of 234 SCO
3. Theme of the Summit is “Towards a SECURE SCO”
4. Iran gained full membership in 234 SCO Summit
a. 2,4 are correct b.1, 2, 3 are correct c.1, 2,4 are correct
d. All are correct e. Answer not known
LlesTeu(hHeUeTauBenm  DLU1H
1. 2023 91em1(H 236ugs SCO o FHomprG CUUIBST augaihdHled HenL QBB
@bHwr — 23auzk SCO alet Hamevenld aIdHHdH BTH
LomBTLIgesT enowlbasm — Towards a SECURE SCO
23eug SCO o &4 1ompmliged FITET (WPAD 2 MBINLIQITS 2 6Teng)
2, 4 g b. 1, 2, 3 & c. 1, 2, 4 g
. SMTHSHID &l e. alenL O flwalsdenev

o oA W

Orbital velocity can be calculated by

GM 26M GM 26M
— b. e. Answer not known
2R (R+h) (R—h)

SHMlush D 5&»&(8@155,&,66)5 dmBHH OBTewIH SH6ewIhDIL 6VTLD?

o b, [2Y /GM /ZGM e. el GpMualeoamen
2R (R+h) (R—h)

PH: 044 - 24339436, 42867555, 9840226187
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When Beryllium is exposed to alpha particles, it produces

a. Boron and electron b. Boron and gamma rays

c. Carbon and neutron d. Lithium and electron

e. Answer not known

CQuTNewHemsd SLev.".UT SHITL HTHGHWOUTH OeuailiLBeusl

a. Gumymedr WwBBID elevdLl grest b. GUITITET OBXWID HTIOT B TH6IT
C. &muest wmmid Buylgrer  d. 9HEHuwid BBID 61601 JTeT
e. alemL OFflwaiedensv

The number of neutrons in 1531 P is

a.15 b. 16 c. 31 d. 46 e. Answer not known
15312 60 2 aitenn Byl presTaeredn 6l6mTeuTdbema
a. 15 b. 16 c. 31 d. 46 e. alewL G fuialsvensv

A special kind of forces between the protons and neutrons in the
nucleus is called.

a. Yukawa forces b. Weak nuclear forces

c. Vander waal’s forces d. Higgs interactions

e. Answer not known

SIamIHHHalled  LGITL LTeiidemenujd BHluyl JTeaismenuld Semenid@Gld  Fmliy
allend

a. Wsmeur allens b. GQed SiEMIGEH leng

C. QUTEWILT QUTeLeD ailedd d. affdberd aleng

e. alewL GHflwaleoenso

Valency of Magnesium (Z = 12) is

a.2 b. 6 c. 10 d.0 e. Answer not known
QusafdwgHer (Z = 12) Senenrd)mer
a.2 b. 6 c. 10 d.0 e. alenL OFpfwaledenso

Consider the following

Assertion (A) : Unstable isotopes are radioactive.

Reason (R) : Unstable isotopes have extra neutrons in their nuclei.

a. (A) alone is true (R) is false

b. Both (A) and (R) are true and (R) is the correct explanation of (A)

c. Both (A) and (R) are false.

d. Both (A) and (R) are true but (R) is not the correct explanation of (A)
e. Answer not known

LNevTeu(heueToUBenm LIS

FBBI(A): BleeliysbsaemowiBds  mCFTBLTIyEeT  SHNLSE  HeoTtenin
o el W.

amyeord  (R): mleweoliusbseaienowmp  mGamGLmiyseien  iemidhamHailsd
Fa(BHO HIULLJTEIHET 2 6iT6T60T.
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a. (A) w' e gfl (R) seum.

b. (A) wmp (R) @yewiG g, Guweibd (R) eemig (A)-elpg  gfluimer
AleN&&BLOTGLD.

c. (A) wppd (R) BrewiGd Heuml.

d. (A) ovppw R) Srewed o epemed  (R), (A) elbg aflwmen
ANGITESBLD6V6V.

e. alemL G fwalsdensv

What percent 15 paise of 2 Rupees 70 paise.
2 epumus 70 emugmaled 15 ewugmale FHaiHD?

a. 5%% b. 5%% C. 5%% d. 5%% e. Answer not known

How the Valluvar specifies the place of gambling?

a.kavaru  b.kazhagam c.kavadi d.netham e.answer not known
GITHD BL H0FH Hl(hHeueTEheuT ereleuTm GBILLNGHSBIT?

a. sl b. swsb c. sang d. OpSHsHD e. alwL GHfuialsvensw

Identify the correct statement/s

I.  Chemical properties of elements are decided by the valence
electrons.

II.  Elements with same number of electrons in the valence shell show
similar properties.

a. [ only b. II only c. BothIand I

d. Neither I nor II e. Answer not known

gRWme FnBBISen6eTsd &6l e

L. SHelomIseTer CouglILewiLHeT DieuBBIT EeneRTHM6T 6160 [JTeITHENTED
SITLOT 60T &b &L ILI(H & 63TMB 60T

II. Oeaefeu LluTenguied & elewtenidbendulled 6T6VHL JTHIHMmET 2 DL I
SHONOEIB6T @Gy wrHflwmer LI Hemernd CBTeuTg(HBHGLD.

a. I w' @w b. II wl @w c. I womgip II

d. GumseasiL eHia|leoamev e. alewL OFpfualedemnsv

Choose incorrect statement

1. Hamas attacked Israel on Oct 7, 2023

2. October 7, 2023 - Yom Kippur Festival
3. Yom Kippur is the holiest day for Jewish

a.1,2 b.1,2,3 c¢2,3 d. None of these e. Answer not known
SHOUBTET FnBHIHEN6T  H6vIL_NlH

1. 9166Lmuy 7, 2023 9@im anwTed RervEremed HTHSHUIG)

2. 9&CGLmuT 7, 2023 — Gumb &Sy ellpr

3. Gumb Sy WHIHEHdHEG WSAD LeNSHLOT6T [HT6N

a.1,2 b.1,2,3 c.2,3d. @mea ggibeoemev e. alen Opfluialedenso
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Hypsometer is used to measure:

a. The pressure of gas b. The boiling point of liquids
c. The level of humidity d. Height on elevation

e. Answer not known

mamLIGaFTLEL L iT Slenal(heaudB@ LWSLGSSILGS B

a. My SIIPHSID b. Arousden CaTHBenev

C. FJLILIGID d. o wygib

e. allewL OaMwaledeneo

When a body falls freely towards the earth, then its total energy:

a. Increases b. Remains same

c. Decreases d. First increases and then decreases

e. Answer not known

@ Ourmer ylemw GCpréesl sHoLulam H6p  alwdamCurg, SiHer
GLoTSHg  SBMBE :

a. 9IFHsMNoEH B b. TmTDed B(HEBGWD

C. GOBHIBI d. wsedev oFsNsa L6 GoBIBa

e. alewL GFMwealevensv

The detection of gravitational wave on 14t September, 2015 by the
LIGO collaboration from the merger of two black holes, is the first direct
detection of gravitational waves and the first observation of a binary
black hole merger. This provides evidence for:

a. Arrhenius theory of electrolytic dissociation

b. Einstein’s general theory of relativity

c. Newton’s law of gravity

d. Theory of black body radiation

e. Answer not known

LIGO @sgemwliier  cpeold  Galibur 14, 2015  oem,  Syewi(
S(HHSHMeNHaNe  Qevenililed  S(pbheH 2 (HeuTel  FTLL  SHIEN60SHEN6IE

WL BIHHCH, FII lewev BBID B[HLS  GHHHD Semeniliflen (LpFHev
Gy sewipUpliILTGD. Q& 6hdH Camium el mirmLsSng?

a. WetemmBU@GLL alevseds SiTelamenuwerd Gsml um
b. smeiterdieaiiasr GuTg Famluied Gamum(

C. Pl Lelledr T lg)

d. smbeunmer sdHiaiFdear Gsm um®

e. alewL GFfwealeoensv
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Acceleration due to gravity of earth is maximum at:

a. The center of the earth

b. The midpoint of the center and the surface of the earth

c. The surface of the earth

d. A height equal to the radius of the earth from the surface of the earth
e. Answer not known

yalulledsr FTlLy (phHSHsD, Youler 6bhd LGHUled DIHaUlFIons S(HESmSHI?
a. yaluller emowil L@&gulled

b. yeluler emiowr wmmid GuBLrinieT enwilieTemuiled

C. yalwler Gumuriy u@guled

d. yuuler GuoBurinied Smbal Wouler SLHHBE@ FoWTar 2 WiFsHhdHe0

e. alomL GFflwalsdensn

Two bullets are fired simultaneously and horizontally from the same
vertical height the first bullet has mass velocity M1 and V1 respectively
and the second one has mass velocity M2 and V2 respectively which|
bullet will hit the ground first?

a. The faster one b. The slower one

c. Both will reach simultaneously d. Will Depend on masses

e. Answer not known

Qe anTESSGMIGST @6y wBpD 2 urSSanns gty I
SHeML IO LIOTS  FLULBHHOIBT (LpHe0 SHIITSHSHSHGHemih HlensGeausd (LpenmGul

M1 oBmpib V1 woBoid @rewimeugl SHIIUTsS oG B HenpGasd (wenpGul
M2  oBpid V2 o eitengl.  6hd  FHIILTEHEHGHMIB  (pSHeVleL  HenJenul
QUbGHEML_UJLD?

a. GeusLomenr geiImI

b. Guogleurer @6yl

c. Gyewibo @Gy GBS0 eubHemL LD

d. oim6ar HeoopemwF FmibHAHEHEG0D

e. alewL GFflwealedensv

Choose correct pair/s regarding EU Sakharov Human Rights Prize

1. 2023 - Masha Amini

2. 2013 - Malala Yousafzai

a. 1 only b. 2 only c. Both1and 2

d. Neither 1 nor 2 e. Answer not known

EU Sakharov iefls 2o flewwser uflea OsTijgurer Fflumer  Senenienuid
Gt

1. 2023 — omegr 96l

2. 2013 — 1DGUTELT ULeQ. .LITU]

a. 1 wl (B b. 2 w’ B c. 1 wmpd 2

d. ®yewiGLieoenev e. alenL Oxflwalsvenev
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42.

43.
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Graphite is used in nuclear reactors:

a. As a lubricant

b. As a fuel

c. For reducing the velocity of neutrons

d. For lining the inside of the reactor as an insulator

e. Answer not known

DI 2_MELEH6IT60 ST .enLIL G UWSTLGSHSILBGSBSI.
a. 10Fg olenrblevoru’l

b. erflQum(meit

c. pulgraiseler CousdHmad GmBLILISBE

d. e 2 meouler o LLBSHHET @ (SLSHTUOUTHETE) LFFTH
e. alemL G fwalsvensv

In One average-life of radioactive decay:

a. Half the active nuclei decay

b. Less than half the active nuclei decay

c. More than half the active nuclei decay

d. All the nuclei decay

e. Answer not known

sFHMWEsEF Famdalel @ FITST QLU BTeOHHBE 6N
LTS Sleibeh FmHaBBlha:ESLD

UTHSGSID (GHDBAUTERT DIeISSH(H FlenHAMBMI(HHGLD.
UTHEGSGID DIHBOTHT DIEISHB([H &FlenHaBsl(HEE L.
. OMNHFH DIIHB(HBBHEHD FlenHAUML [HSH(HEBELD.
alewL O fluiaievensv

a0 TP

Any force like gravitational force, frictional force, magnetic force,
electrostatic force may act as a,

a. Centrifugal force b. Spring force c. Tension force

d. Centripetal force e. Answer not known

IOy elend, o grule) alend, &MhH elengd, [Hlenev Weeluied allend LOBHID
BHCUTSIB 6hd @H alengu b Gumeitp GlFwWeEOLIBLD.

a. ewbwalevdd alews b, &meT aleng c. Bupalens

d. owwwleErsE almg e, alwl Gxfuelsdensd

Force of attraction between the particles of solid, liquid and gas.
a. Solid > Liquid > Gas b. Solid < Liquid < Gas
c. Gas > Liquid < Solid d. Liquid > Solid > Gas
e. Answer not known
&GwIDLD, BT, aumu] EBluleBBled HIH6THEHHEG Denl Guiwimet FTLILaeng
a. FHewnolb > HTOWD > eumuy b. SHewiod < FBirwd < euruy
C. eumu] > @i < Hlewiolb d. smon > Hewiod > eumuy
e. alewL GFHflwealedenso
PH: 044 - 24339436, 42867555, 9840226187
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Which of the following statement is /are correct?

1. Torque or moment of the force (t)= Fxd

2. SI unit of torque is Nm

3. Torque is a vector quantity

a.1,2, 3 are correct b. Only 1, 2 are correct c. Only 1 is correct
d. Only 1, 3 are correct e. Answer not known

LedTeu(hHeueTouBMmIeT 6Teme Fifluimeng)?

1. elengulen FHmriyshdHmer (t)= Fxd

2. Hmpuygdmpeier SI opog Hugl Ler LT Nm

3. B3 @ OCeusLmT Sierey

a.1,2,3 sl b. 1,2 o G & c. 1w G &l

d. 1,3 w’ G & e. alewL Ospfuwaledamev

When a number is decreased by 25% it becomes 120. Find the number.

a. 180 b. 170 c. 160 d. 150 e. Answer not known

@7 oTewiewllesr WAL 25% GOBSHHTL 120 HewLbHBEH  aTaled, Db
CTGUTENEMI  EBITEmID.

a. 180 b. 170 c. 160 d. 150 e. alewl. Gxfuielsvenev
In excessive or deficient which one of the following may cause disease?
a. flatulence b. biliousness d. phlegm

d. all of these e. Answer not known

aemal LGHBTID FHOBHIHTID CHTenul © 6w TdhEGLD?

a. aUTHID b. Wz c. FBeusHgInID

d. Bmel SiMIHHID e. alewL OFfuwaledemsv

An object dropped from window of a moving train. It is an example of
motion

a. Projectile motion b. Linear motion c. Circular motion

d. Rotational motion  e. Answer not known

@b Gyuieder meteredlevlhbha S6 GuUTLLILIGLD OUT[HET 6heH BuUIshsdHH 6

d(HHHIHSTL(H?

a. edQummeflesr Buibasld b. GriIsCaT B BuIbsid

C. AL SuibsD d. spBd Buibsbd

e. alewL GFflwealedenso

Which of the following statements are correct?

1. Isotopes are atoms of the same element, which have same atomic
number but different mass number

2. Isobars are the different elements having same number of neutron
but different atomic number and mass number.

3. Isotones are the are atoms of the different element with same mass
number but different atomic number.
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a.1and 2 only b.2 and 3 only c. 1 only

d. all the above e. Answer not known

LesTeu(hld 61bd FnMBmIseiT Filuimereneu?

. 981 9oem eewl LBLBID OeuaiGoum Hews elewidmend OdmewiL G
SIS SH 1 DjamIbHeT CFT@LM ereILIBLD.

2. @By erewienibendUled HiULL JreTIdemenud iermed GleuaiGoum Sl 6161
LB Hlewm elewl GBTew  GCleuaiGaml HeMDSHSH T DIEWIHHT QOIFTLIMT
oTeoTLILI(HLD.

3. @61 meom erewiememuld  GeuaiGoup  Slewml  eTewTeneIIUD  OClBTEuETL
CouaiGouml Helogd et DigmIbHHe 6FTGL M6 6TeIILBLD

a. 1 wBmb 2 1wl Bib b. 2 wBpid 3 L G c. 1 wl (B

d. CuBseiL SEnaTSHHID e. alewL Osfwaledemsv

Choose correct pair regarding Nobel Prize 2023

1. Medicine - mRNA vaccine

2. Economic - Gender Gap at Workplace

3. Physics - Quantum Dots

4. Chemistry - Attosecond

a. 1 pair b. 2 pairs c. 3 pairs

d. 4 pairs e. Answer not known

Gpmued ufle 2023 GBeHs gFflwner Dewenisemen CaTe

1. wmszaed - mRNA seriyg

2. QummenmaTId - uedlulGH&He0 UTeller EewL Gleuer

3. BuBLIwed - G6euTewiL LD Li6iTerllsel

4. Gouglulwied - o CLTOFsHeI(H

a. 1 ®enewr b. 2 @ememismein C. 3 ®nenIdHel

d. 4 Smewimel e. alenL Oxflwalsvenev

Isotopes of hydrogen

d. 1H1, zHl, 3H1 b 1H1, 1H2, 1H3 C. 1H1, 2H€4, 3Li6

d. H?1, ,H?, sH3 e. Answer not known

emamL Jenest ECFT@L T H6T

a. 1H1, zHl, 3H1 b 1H1, 1H2, 1H3 C. 1H1, 2He4, 3Li6
d. H?1, ,H?, sH3 e. alewL OxMuwaledemnsv

Lightest metal in the periodic table

a. Hydrogen b. Helium c. Lithium
d. Boron e. Answer not known

o auflenF oI L euenewtuisvieiien @Gsugmerr o Geumsid

a. ML [JegeH b. anfedunb C. elghgduib
d. Guimymest e. alewL O fuwaledemnsv
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Match the following;:

Compound Oxidation number
A. K M_IIO4 1. +6
B. NaxCr, Oy 2.+5
C. CuSOq 3.+7
D. HNO:s 4., +2

A B C D
a. 1 3 2 4
b. 1 3 4 2
c. 3 1 2 4
d. 3 1 4 2
e. Answer not known
CQUTHHHIH
CLPELEFn B 5T MCe1Bm  6T6wT
A.KMn O, 1. +6
B. Nazgg O 2.+5
C. CuSO, 3.+7
D. HNOs 4.+2

A B C D
a. 1 3 2 4
b. 1 3 4 2
c. 3 1 2 4
d.3 1 4 2
e. alewL G fwealevensv
The discovery of proved Mendeleev’s prediction of Eka Silicon
a. Zirconium b. Germanium c. Beryllium
d. Sodium e. Answer not known

SHelod et HewiBLglIL], GIoewTL_60aleT 6IHT Flelldmen dHemiLienL

BbUISSSI-
a. dnBasmefluwib b. Ogiomesiwib c. Gufleduib
d. Gamguub e. alewL OFHfualedensv

Consider the following

Assertion (A): d- Block elements are called transition elements

Reason (R): The properties of d- Block elements are intermediate to that

of s block and f- block elements

a. (A) alone is correct (R) is incorrect

b. (A) and (R) are correct and (R) is the correct explanation of (A)

c. (A) and (R) are incorrect

d.(A) and (R) are correct but (R) is not the correct explanation of (A)
PH: 044 - 24339436, 42867555, 9840226187
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LedTeu(heueneuBens OLU1s.

gapm (A) . d - OGangd salohser SLBmevd SHlDBIG6T 66

SIMLPSHSBLILIBH S 6AIB60T.

smyend (R) :d — Gsned selonseier usiser s — 0s1@d wBpid f

COFHTGHFH SHONOMIBEHDHEG SenLUled SHTewILILIBLD.

a. (A)w e & (R) seupl

b. (A) wspw (R) @Grewibw &f, Gweub (R), (A) ealbg saflwmen
6T BTG LD.

c. (A) wpmpiy (R) Syewibd sHeumi

d. (A) wspd (R) @gewd i opemed  (R) (A) alBe sfwmer
1618 HLD6L6L

e. alemL G fwalsdensv

Choose incorrect pair regarding UN Year

a. 2010 - Biodiversity  b. 2011 - Soil c. 1974 - Population
d. 1999 - Oder persons e. Answer not known

UN oiemip OSHTLTUTRT SHeummer Senenienlids SHTewnld

a. 2010 - uevbeulT Qu(pdED b, 2011 — D6

C. 1974 — 1D&HBHTOHTND d. 1999 — wHCuinTmel

e. alenL O fwalsdaneo

Match the following;:

Type of additive Example

A. Preservatives 1. Saccharine

B. Artificial sweeteners 2. Monosodium slutamate
C. Flavor enhancers 3. Carotene

D. Antioxidants 4. Vinegar

QUT(HSHSHIS:

o cuieyF CFdbend 6UMBHET 2 SHTJ6ID

A. 2 _ewiey USILGSHSHB6N 1. gnéafler

B. Qewumens Sl lpsei 2. GurGermmB@amgouid @ @mpL L Gl
C. gomeuull 1956l 3. &C@ymigest

D. adit susbdlmGemnsser 4. alleiaT

A B C D

a. 4 1 2 3
b. 4 1 3 2
c. 1 4 2 3
d. 1 4 3 2
e. Answer not known
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57. The Lanthanides and Actinides are called.
a. Transition Elements b. Inner transition elements
c. Chalcogen family d. Inert gases
e. Answer not known
UM HMT(HHGIT OBBILD LHIYMIHBET 6IaITH DIMLPSHHLILIHB IMm60T?
a. BmLBen60dH HeNDBIGE b. 2 61 BLBmevd Hellomib6l
C. gmeuBsreme @ ®LbuLD d. wbs eurudbser
e. alemL OFflwaiedensv

58. Match the following

Metal Chief ore

A. Aluminium 1. Hematite

B. Iron 2. Bauxite

C. Manganese 3. Galena

D. Lead 4. Pyrolusite

QUIT(HSHSHIS:

© GeomssLd (PSR HTHI

A. odefwb 1. GamioemL L

B. ®miby 2. UT&HemTFL

C. wrhiseis 3. &60aIT

D. amfuub 4. ewLIGTTeUTENTFL
A B C D

a. 1 2 4 3

b. 2 1 4 3

c. 2 1 3 4

d. 1 2 3 4

e. Answer not known

59. The noble gases are unreactive because they
a. have same number of electrons
b. have an atomicity of one
c. are gases with low densities
d. have stable electronic configuration
e. Answer not known
o wiflw eumwsseEndE alenerflujd Hner Gemmel, 6olemeNeD
a. @Gy erewenldbeNBUI6TEN 61601 JT6HIHM6NT  OlHT6wI(H6IT6T60T.
b. ©lemibEl B 616wl @6y
C. GMBHD DILTHH 2 LUl 6UTU|HEH6I
d. Penevs s e160HL TT6sT Sieniolientl GILIBBIETETET.
e. alewL GFfwealedensv
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If the difference between 75% of a number and 60% of the same number is
82.5, then find 20% of the number.

@  elewieniann  75% S@0D o6 eeawienilar 60% &G @ewLBw 2 _sien
albHwngd 82.5 eefled oibs eremtenilesr 20% 3 mew.

a. 550 b. 330 c. 110 d. 165 e. Answer not known

According to Valluvar, when the body does not need medicine?
when eating delicious food

when eating nectar

when eating food after digesting pre-eaten food

. when eating a balanced diet

. answer not known

aliQuTpgdl o LbiBE@  wmha  Cousmiguigleemey  GT@IMI  H(HeU6TEheUT
8 [BIS\GHIBTIT?

. OIWIFM6EN 2 _6WIeN6! 2 6lDILDOILIT(LHSI

b. ofiasmsd 2 aamIbOLITILEI

C. (&1 2 _ewiL 2 ewia], CFfgHsLler 2 emie| 2 ewigmid OLITIOSI

d. sileldls o ewvemeu 2 ewigmid GUTIHSI

e. alemL O flwalsdenev

oo o

Which of the ions will give colourless aqueous solution?

a. Ni2* b. Fe2+ c.Cuzr d.Cu* e. Answer not known
BIDSHHEMILABBIGT 61HH Sl HIBOBB BT LFH HOIFN6L QULHIGHBBSHI?
a. Niz+ b. Fezt c. Cuzt d. Cut e. alewL Gxfuwelsvenev

Which among the following is/are associated with Micro credit?
i. Mohammad Younis ii. Mahalir Thittam iii. Pudhu Vazhvu Project
a. ii, iii b. 1, ii c. i, iii

d. i, ii, iii e. Answer not known

LNevTeu(heueTeuBmIeT GBIBIHUL 6T QHTLTL DLW 61517

1. (Ip&IDIDG] UL,60T61D 1. aefiT H LD 1il. ygleumpey S L1b
a. ii, iii b. i, ii c. 1, iii

d. i, ii, iii e. alewL OFfwalsdenev

Losing eye sight after consuming spurious liquor (bhejal) is due to its

adulteration by:

a. Methanol b. Acetaldehyde c. Narcotic

d. Acidic moiety e. Answer not known

HOTGMNFFTITUID DIHHSHIUBHTEL HEWILITTENA! LDMISH HITT6RID DI HELHSIGTENT
a. G HeTeL b. &1 Lrevigenan( c. Gurens (HHSI
d. udevdamml
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Which of the following compound(s) will liberate methane gas on
reaction with water?
a. BeC; only b. Al4Cs only c. Be2C only

d. Both Al,C; and Be,C e. Answer not known

B o oen  GamomPelled o1&k (6lemeu) bHEHLT  alleneifihgd 158586
aImujenald OBTHEHGD?

d. BeCz LDL@LD b A14C3 LDL(BLb

c. Be;C ol (b d. ALiGsiopmib BexC ol Byemi(Bid

e. alemL OHflwalsdensn

The most common oxidation state of lanthanides is

a.+2 b. +1 c.+3
d. +4 e. Answer not known
OTHHemaI(hB6eie GUTHIeUTeT S GeniBMBmBlen6v
a.+2 b. +1 c.+3
d. +4 e. alewL Gxfuwelsenev
Alloys of Lanthanides are called as
a. Mish-metals b. Metalloids c. Plate metals
d. Actinides e. Answer not known
VT Henen(hoeilent 2 Geuresd Hevenal 61601 - DIMIPSHBLILIBHIBSI.
a. Weay-2 Geursid b. 2 Geuratt Gumed c. sl B2 _Beursld
d. eudmarBser e. alowL OFfuialedensv
Match the following and choose the correct answer:
Type Symbol of the element
A. Alkaline earth metal 1.Rb
B. Radioactive element 2. As
C. Alkali metal 3. Mg
D. Metalloid 4. Fr
A B C D
a. 2 1 4 3
b. 1 2 3 4
c. 4 3 2 1
d.3 4 1 2

e. Answer not known
SlparenilauBens QuTmSHa Fflwmer allewLemuwl GCHiho\%HH:

UMD SHANDGHHeT GHMUi®h
A. smyewt o GeumaLd 1.Rb

B. ag8flusss sHellolb 2. As

C. sm7 2_Beurasld 3. Mg

D. o Beuralt Gumel 4. Fr
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pn o

W RN
= W N = o
=N WA
N = W

e. alewL OFfwaledensv

Find correct pair

i. OSIRIS - REX - NASA - ASTEROID
ii. Perseverance - NASA - MARS

iii. DART -JAXA - ASTEROID

iv. ARTEMIS - NASA - MOON

a. i, ii, iv b. ii, iii, iv c. 1, i1, iii
d. All of these e. Answer not known

FRlmer Eenenienlidh HITewIdH

i. OSIRIS - REX - NASA - @guimiGsel

ii. Perseverance - NASA - Qgaieumul

1ii. DART - JAXA - gnimGsmer

iv. ARTEMIS - NASA - plevey

a. i, ii, iv b. ii, iii, iv c. 1, ii, iii
d. el SiMTSHSHID e. alew O flwaisvensv

Which one of the following is a thermosetting polymer?

a. Bakelite b. Nylon 6, 6 c. Polyethene

d. Terylene e. Answer not known

BIDSHHEWILUBMBIGT 6Temed @6l CEUIILSHTEL E6MHT LIGVLIY L&D

a. Gudbemevl b. enpevrest 66 C. umell 6183 eSent

d. GuLfedesr e. alewL O fuwaledemnsv

Paramagnetism is common in

a. p-block elements b. d-block elements c. s-block elements
d. Inert gases e. Answer not known

dH0BHTHIH HONDBIGBET UTITHMHSHDH SHeITMUWI CLTHINTH 6SHT6wI(HeIT6IT6I.
a. p-Os1egd seilniser b. d-Gared sefionhise

C. s-0aT&Hd Halomise d. wbhs euruiBHeN

e. alewL GFHfwealeoensv

Why Sodium is normally kept immersed in kerosene 0il?
a. Kerosene oil is a good preservative
b. To prevent sodium to absorb moisture in atmosphere
c. In open air Sodium explosively reacts with oxygen
d. Sodium remains soft in kerosene
e. Answer not known
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GamouiIld 66T FHTFEOILOTS LOGNTGI6mT6wTGletTulenIe (P& emeUSHSLILIL (HEiToNG).
a. eniblewieniOlewiul WSFFABHS LSLILBGHS

b. Gamguid eueilioewiL_sudhFevieTen RILILSHMS 2 MlehdialemnHHBoHD.

C. FmbaHoeuaTuied Camouid LbFlmai a1 almerfiha Gy HaHialbLb.

d. Gamguib 1ewTOewTETOTUTIE WO(HHITS B)(HIHG)LD.

e. alemL G fwalsvensv

The indicators used to calculate Global Hunger Index are
1. Undernourishment - Both children and Adult

2. Child stunting

3. Child Wasting

4. Child Mortality

a. ii, iii, iv b. i, ii, ii c. i, iii

d. All of these e. Answer not known
® 60GHGMTAIW LI 1960Tl&b GSMIUIL_emL_& BRI HBIL_L LweTUBSSUILIBLD
GBI 19 H6IT

1. 201’ L FF5HFH GHOBUTH — GLHMSHHT B@ID OLfluieuTEHeT E(hHeu(hHD
2. auenit&dd @GP GLHMDH

3. GWHMSH 6IeNL 5&5EF6MNBE6Y

4. GYbMS BBLY

a. ii, iii, iv b. i, ii, ii c. 11, il

d. Bmal SiMISHHID e. alewL Gxfuelsvanev

Chapter number of Nobility is

a. 94 b. 95 c. 96 d. 97 e. Answer not known
GgeDID DI BT 616301
a. 94 b. 95 c. 96 d. 97 e. alewL G fwaledenev

An alloy consists of 30% copper and 40% Zinc, and the remaining is nickel.
find the amount of nickel in 20 kilograms of the alloy.

am 2 BGoras sevemaluled 30% asriumbd 40% Mmis-b o elengl.  18H(IpsiTenenal
HoHHe0 GD. 20 FF 2 BeoTsdHe0meluled HeHEHele 616Dl 6161166167

a.8 kg b.12kg c.14kg d.6kg e. Answer not known
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